

Ocean County Board of Commissioners

OFFICE OF THE OCEAN COUNTY COMMISSIONERS

Director John P. Kelly
Deputy Director Frank Sadeghi
Commissioner Robert S. Arace
Commissioner Jennifier Bacchione
Commissioner Virginia E. Haines

101 Hooper Avenue Toms River, New Jersey 08754-2191 (732)929-2005 (732)505-1918

Board Meeting Agenda

Date: March 19, 2025 - 4:00 PM

Location: Administration Building

Room 119

101 Hooper Avenue Toms River, NJ 08754

Agenda: Awarding Contracts for the furnishing and delivery of CATCH BASINS AND MANHOLE CASTINGS to Brent Materials Company and General Foundries, Inc., the lowest qualified bidders. Item No. 1 is rejected in accordance with N.J.S.A. 40A:11-13.2(d) as the contracting unit wishes to revise the specification. It will be rebid. (B2025-29)

Official Resolution#	2025000330
Meeting Date	03/19/2025
Introduced Date	03/19/2025
Adopted Date	03/19/2025
Agenda Item	k-1
CAF#	
Purchase Req. #	B2025-29
Result	Adopted

COUNTY COMMISSIONER	PRES.	ABS.	MOVE	SEC	AYE	NAY	ABST.
Kelly	~				~		
Sadeghi	~				~		
Arace		~					
Bacchione	~		~		~		
Haines	~			~	~		

I HEREBY CERTIFY THAT THIS DOCUMENT IS A TRUE, COMPLETE AND ACCURATE COPY OF THIS RESOLUTION, ADOPTED BY OCEAN COUNTY BOARD OF COMMISSIONERS, NJ AT THE MEETING REFERENCED THEREON

8

CONTRACT NO MUST BE ON ALL PAPERS, DOCUMENTS, INVOICES, VOUCHERS

B2025-29

RESOLUTION

March 19, 2025

WHEREAS, on February 4, 2025 pursuant to legal advertisements therefor, sealed bids were received for the furnishing and delivery of CATCH BASINS AND MANHOLE CASTINGS for the County of Ocean; and

WHEREAS, at the advertised time, responses were received from the following bidders:

Name and Address of Bidder

Brent Materials Company 325 Columbia Turnpike Suite 308 Florham Park, NJ 07932 (973) 325-3030

Atlantic Plumbing Supply Corp. 702 Joline Ave. Long Branch, NJ 07740 (732) 229-0334

Name and Address of Bidder

General Foundries, Inc. 1 Progress Road North Brunswick, NJ 08902 (732) 951-9001

; and

WHEREAS, after the receipt and examination of same, the County Purchasing Agent has now recommended to this Board that the lowest qualified bid, according to specifications, be accepted, in each instance namely that of BRENT MATERIALS COMPANY and GENERAL FOUNDRIES, INC. Item No. 1 is rejected pursuant to 40A:11-13.2(d) as the contracting unit would like to revise the specifications. This will be rebid.

NOW, THEREFORE, BE IT RESOLVED by the BOARD OF COMMISSIONERS of the COUNTY OF OCEAN, STATE OF NEW JERSEY, as follows:

1. The Director and Clerk of this Board are hereby authorized and directed to enter into contracts, for the furnishing and delivery of Catch Basins and Manhole Castings for the County of Ocean, for the contract period from date of award through March 18, 2026, a period of one (1) year, OR until delivery is complete unless otherwise stated. The County reserves the right to extend the term of the contract pursuant to N.J.S.A. 40A: 11-15.

BRENT MATERIALS COMPANY for five (5) items, to wit:

ITEM NOS. 2, 4, 5, 6 and 7.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

Introduced on: Adopted on: Official Resolution#: 2025000330

March 19, 2025 March 19, 2025

PAGE 2

MARCH 19, 2025

В. GENERAL FOUNDRIES, INC. for five (5) items, to wit: ITEM NOS. 3, 8, 9, 10 and 11.

This vendor has extended this contract to County Cooperative Contract System Participants, Identifier No. CK-02-OC.

- 2. Payments for the materials to be acquired by these contracts shall be made upon the approval of vouchers submitted by the successful bidders in accordance with the requirements of the Board of Commissioners and subject to the Board of Commissioners customary procedures. Delivery shall be made upon receipt of a Purchase Order issued by the Ocean County Department of Purchase, upon which delivery locations and needed quantities shall be indicated
- 3. Funds for the equipment shall be available within the following funding Sources: Roads Department O.E.
- 4. The contract number must be placed on all papers, documents, invoices and vouchers pertaining to said contract, the number being B2025-29.

BE IT FURTHER RESOLVED that certified copies of this Resolution shall be made available to the County Auditor, Department of Purchasing, Department of Finance, Roads Department and the successful bidders.

Introduced on: Adopted on: Official Resolution#: 2025000330



[BRENT MATERIAL COMPANY] RESPONSE DOCUMENT REPORT Bid No. TBD CATCH BASINS AND MANHOLE CASTINGS

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Pattern #	Delivery, A.R.O.	Comments
1	42" x 48" - Type B&C - Highway Catch Basin Head, (Bikegrate grating - ECO/Non- Mountable Curb Type) "Bridgestate Type "N", or Equivalent" Furnished & Delivered	25	EA	\$249.57	\$6,239.25		EAST JORDAN IRON WORKS	7590711	6 WEEKS	
2	47 %" x 21 %" - Type E - Double Flat Frame & ECO Bike Grate "Bridgestate, Phase II, Stormwater Compliant Grate, Or Equivalent" Furnished & Delivered	30	EA	\$1,079.44	\$32,383.20		EAST JORDAN IRON WORKS	7592,7592Z AND 7590M5	6 WEEKS	



[BRENT MATERIAL COMPANY] RESPONSE DOCUMENT REPORT Bid No. TBD

CATCH BASINS AND MANHOLE CASTINGS

1	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Pattern #	Delivery, A.R.O.	Comments
	3	46" x 46" Manholes, 10" - Square Frame with Circular Covers "Campbell Foundry Pattern #1232, Flockhard Foundry Type 615-B, Pattern #60893, or Equivalent" Furnished & Delivered	15	EA	\$1,488.25	\$22,323.75		EAST JORDAN IRON WORKS	1833 AND 1833A2	6 WEEKS	
/	4	47 %" x 21 %" - Type A - Heavy Highway Frame & Grate (Bike Grating single grate) "Campbell Foundry Pattern #3432, Or Equivalent" Furnished & Delivered	20	EA	\$594.65	\$11,893.00		EAST JORDAN IRON WORKS	7593 AND 7590M5	6 WEEKS	
V	5	30" x 24" - Heavy Duty Rectangular Frame and Bike Grate "Campbell Foundry Pattern #3084, or Equivalent" Furnished & Delivered	25	EA	\$511.98	\$12,799.50		EAST JORDAN IRON WORKS	V5662 FRAME AND V5662 GRATE	6 WEEKS	

Introduced on:

March 19, 2025

Adopted on: March 19, 2025 Official Resolution#: 2025000330 PANY] RESPONSE DOCUMENT REPORT Bid - CATCH BASINS AND MANHOLE CASTINGS

[BRENT MATERIAL COMPANY] RESPONSE DOCUMENT REPORT Bid No. TBD

CATCH BASINS AND MANHOLE CASTINGS

1 min 1 min

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Pattern #	Delivery, A.R.O.	Comments
V	6	47 %" x 12 %" Bicycle Safe GRATE ONLY w/eco markings "Dump No Waste Drains To Waterways" Bridgestate Foundry Pattern #2617 Furnished & Delivered	25	EA	\$304.58	\$7,614.50		EAST JORDAN IRON WORKS	7590M5	6 WEEKS	
レ	7	Manhole 5" - 46" x 46" "Square Frame with Circular Covers Pattern #1232-5" Furnished & Delivered	25	EA	\$1,075.09	\$26,877.25		EAST JORDAN IRON WORKS	1833Z3 AND 1833A2	6 WEEKS	
	8	Manhole 4" - 24" x 4" Frame (Square Flange) + Cover (Plain), General Foundries Pattern #12448, Furnished and Delivered		EA	No Bid	No Bid	X				
	9	Grate, Model USF347 Ring and #5847 Grate, As Specified or Equal, Furnished and Delivered	25	EA	\$358.83	\$8,970.75		EAST JORDAN IRON SWORKS	1833Z3 AND 1833A2	6 WEEKS	

Introduced on:

March 19, 2025

Adopted BB: NT MAT MARCH 19, 2015 Official Resolution#: 2025000330 PANY] RESPONSE DOCUMENT REPORT Bid - CATCH BASINS AND MANHOLE CASTINGS

[GENERAL FOUNDRIES INC] RESPONSE DOCUMENT REPORT Bid No. TBD CATCH BASINS AND MANHOLE CASTINGS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Pattern #	Delivery, A.R.O.	Comments
V	3	46" x 46" Manholes, 10" - Square Frame with Circular Covers "Campbell Foundry Pattern #1232, Flockhard Foundry Type 615-B, Pattern #60893, or Equivalent" Furnished & Delivered	15	EA	\$1,400.00	\$21,000.00		US FOUNDRY	300-Q	7 DAYS	
	. 4	47 %" x 21 %" - Type A - Heavy Highway Frame & Grate (Bike Grating single grate) "Campbell Foundry Pattern #3432, Or Equivalent" Furnished & Delivered	20	EA	\$602.00	\$12,040.00		US FOUNDRY	4196-6352	7 DAYS	
	5	30" x 24" - Heavy Duty Rectangular Frame and Bike Grate "Campbell Foundry Pattern #3084, or Equivalent" Furnished & Delivered	25	EA	\$535.00	\$13,375.00		US FOUNDRY	4139-6429	7 DAYS	

Introduced on:

March 19, 2025

Adopted on: March 19 2025 Official Resolution#: 2025000330 INC] RESPONSE DOCUMENT REPORT Bid - CATCH BASINS AND MANHOLE CASTINGS



[GENERAL FOUNDRIES INC] RESPONSE DOCUMENT REPORT Bid No. TBD

CATCH BASINS AND MANHOLE CASTINGS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Pattern #	Delivery, A.R.O.	Comments
	6	47 %" x 12 %" Bicycle Safe GRATE ONLY w/eco markings "Dump No Waste Drains To Waterways" Bridgestate Foundry Pattern #2617 Furnished & Delivered	25	EA	\$313.00	\$7,825.00		US FOUNDRY	6352	7 DAYS	· -
	7	Manhole 5" - 46" x 46" "Square Frame with Circular Covers Pattern #1232-5" Furnished & Delivered	25	EA	\$1,225.00	\$30,625.00		US FOUNDRY	436-Q	7 DAYS	
V	8	Manhole 4" - 24" x 4" Frame (Square Flange) + Cover (Plain), General Foundries Pattern #12448, Furnished and Delivered	25	EA	\$250.00	\$6,250.00		GENERAL FOUNDRIES	12448	7 DAYS	
し	9	Grate, Model USF347 Ring and #5847 Grate, As Specified or Equal, Furnished and Delivered	25	EA	\$350.00	\$8,750.00		US FOUNDRY	138-5617	7 DAYS	,

Introduced on: March 19, 2025

Adopted on: Parch 19, 2025

Official Resolution#: 2025000330

Bid - CATCH BASINS AND MANHOLE CASTINGS

[GENERAL FOUNDRIES INC] RESPONSE DOCUMENT REPORT Bid No. TBD

CATCH BASINS AND MANHOLE CASTINGS

	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total Cost	No Bid	Manufacturer	Pattern#	Delivery, A.R.O.	Comments
Ú	10	Manhole Frame and Cover, General Foundries Pattern #12858 or Equivalent, Furnished and Delivered	25	EA	\$700.00	\$17,500.00		GENERAL FOUNDRIES	12858	7 DAYS	
L	11	Manhole Frame and Cover, General Foundries Pattern #12786 or Equivalent, Furnished and Delivered	25	EA	\$592.00	\$14,800.00		GENERAL FOUNDRIES	12786	7 DAYS	